
36
86

36
87

36
88

36
89

36
90

36
91

Run Number

92

93

94

95

96

 R
M

S
(p

pm
)

Slug17: Corrected RMS (ppm): asym_us_avg

Regression

Lagrange

Slug17: Corrected RMS (ppm): asym_us_avg



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

4

5

6

7

8

9

10

11

12

 R
M

S
(p

pm
)

 (ppm)reg
2σ -lagr

2σSlug17: asym_us_avg:  (ppm)reg
2σ -lagr

2σSlug17: asym_us_avg: 



36
86

36
87

36
88

36
89

36
90

36
91

 Run Number 

0

20

40

60

80

100

120

140

160

180

200

220
 (

P
P

M
)

Lagrange Corrections Width (ppm) by Eigenvectors
Eigenvector 0
Eigenvector 1
Eigenvector 2
Eigenvector 3
Eigenvector 4
Eigenvector 5
Eigenvector 6
Eigenvector 7
Eigenvector 8
Eigenvector 9
Eigenvector 10
Eigenvector 11

Lagrange Corrections Width (ppm) by Eigenvectors



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

2

2.5

3

3.5

4

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon0 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon0 (ppm/um)

0.4− 0.3− 0.2− 0.1− 0 0.1

( fabs(dit.us_avg_evMon0)-fabs(mini_eigall.us_avg_evMon0) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

3.5

4

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean  0.1257− 

Std Dev    0.1328

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

4.5−

4−

3.5−

3−

2.5−

2−

1.5−

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon1 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon1 (ppm/um)

0.2− 0.1− 0 0.1 0.2 0.3 0.4 0.5 0.6

( fabs(dit.us_avg_evMon1)-fabs(mini_eigall.us_avg_evMon1) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

3.5

4

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean   0.1511

Std Dev    0.1681

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

38−

37.5−

37−

36.5−

36−

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon2 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon2 (ppm/um)

0.4 0.6 0.8 1 1.2 1.4 1.6

( fabs(dit.us_avg_evMon2)-fabs(mini_eigall.us_avg_evMon2) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean   0.9499

Std Dev     0.216

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

15−

10−

5−

0

5

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon3 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon3 (ppm/um)

0.5− 0 0.5 1 1.5

( fabs(dit.us_avg_evMon3)-fabs(mini_eigall.us_avg_evMon3) ) /(ppm/um)

0

1

2

3

4

5

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean   0.2922

Std Dev    0.3794

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

20−

18−

16−

14−

12−

10−

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon4 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon4 (ppm/um)

0.5− 0 0.5 1 1.5 2

( fabs(dit.us_avg_evMon4)-fabs(mini_eigall.us_avg_evMon4) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

3.5

4

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean    1.069

Std Dev    0.4715

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

3.5−

3−

2.5−

2−

1.5−

1−

0.5−

0

0.5

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon5 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon5 (ppm/um)

1− 0.5− 0 0.5 1 1.5 2 2.5

( fabs(dit.us_avg_evMon5)-fabs(mini_eigall.us_avg_evMon5) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean   0.3508

Std Dev    0.5856

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

9

10

11

12

13

14

15

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon6 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon6 (ppm/um)

0 0.5 1 1.5 2

( fabs(dit.us_avg_evMon6)-fabs(mini_eigall.us_avg_evMon6) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean   0.6542

Std Dev    0.4595

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

8−

6−

4−

2−

0

2

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon7 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon7 (ppm/um)

3− 2− 1− 0 1 2 3 4 5 6 7

( fabs(dit.us_avg_evMon7)-fabs(mini_eigall.us_avg_evMon7) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

3.5

4

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean    1.931

Std Dev     1.725

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

4

6

8

10

12

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon8 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon8 (ppm/um)

4− 2− 0 2 4

( fabs(dit.us_avg_evMon8)-fabs(mini_eigall.us_avg_evMon8) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean   0.09427

Std Dev     1.631

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

12−

10−

8−

6−

4−

2−

0

2

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon9 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon9 (ppm/um)

8− 6− 4− 2− 0 2 4 6

( fabs(dit.us_avg_evMon9)-fabs(mini_eigall.us_avg_evMon9) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

3.5

4

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean  0.9227− 

Std Dev     2.433

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

5−

0

5

10

15

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon10 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon10 (ppm/um)

5− 0 5 10 15

( fabs(dit.us_avg_evMon10)-fabs(mini_eigall.us_avg_evMon10) ) /(ppm/um)

0

0.5

1

1.5

2

2.5

3

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean    4.447

Std Dev     4.434

|dit_slope| - |reg_slope| (ppm/um) 



36
86

36
87

36
88

36
89

36
90

36
91

Run Number

0

2

4

6

8

10

12

14

16

18

20

22

 S
lo

pe
 (

pp
m

/u
m

)
Slug17: Slope : us_avg_vs_evMon11 (ppm/um)

Regression

Lagrange

Slug17: Slope : us_avg_vs_evMon11 (ppm/um)

6− 4− 2− 0 2 4 6 8 10

( fabs(dit.us_avg_evMon11)-fabs(mini_eigall.us_avg_evMon11) ) /(ppm/um)

0

1

2

3

4

5

|dit_slope| - |reg_slope| (ppm/um) 

htemp

Entries  52

Mean    2.817

Std Dev     3.219

|dit_slope| - |reg_slope| (ppm/um) 


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15


